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Syllabus NSQF Level 4

WORKSHOP CALCULATION & SCIENCE: 32 Hrs

Unit 4: Profit and Loss Profit and loss - Simple problems
on profit & loss Profit and loss - Simple and compound

interest

1. What is discount? B¢ &1 8?

A : Selling price is less than Cost price Tﬁzﬁﬁmama
T A BAE

B : Selling price is greater than Cost price fasa I bd
Hed 4 At 8

C : The reduction given to the selling price of a product
et 3cae 3 fagpa Hewr & o ot

D : Selling price + discount feisht {e&r + B¢

Ans:C

2. What is a profit? @ =T 8?2

A : Selling price - Cost price faght Ho - oPTd H{ed
B : Cost price - Selling price ¢PTd {cJ - ﬁl’;ﬁﬁ?\’l
C
D

: Selling price + Cost price feisht e + cPTd Hed
: Cost price + Selling price TPTd H{cd + ﬁ?ﬁﬂ?ﬂ
Ans: A

3. What is the term, if an article is purchased? gfe BIg
a¥ TRt ST &, aY 2Meq T 82

A : Selling price feisht qea

B : Cost price eTPTd {od

C : Margin price FITf?F[ﬂF\’I

D : Discount price fS&®b13e HiHa

Ans:B

4. What is the expanded form of S.P? Tq.Ut. &I fatalRa
BY T 87

A : Selected Price

B : Special Price

C : Selling Price

D : Super Price

Ans: C

5. Which is the short form of profit and loss statement?
@M 3R 21 fdarur &1 Hfeg Bu B a1 82

A:P&L

B:PR&LS

C:PRO & LOS

D:L&P

Ans: A

6. What is denoted as 'I'? I & %4 & &1 fA%fUd fdsar srar
8?

A : Principal

B : Interest

C:Rate

D: Year

Ans:B

7. How the 'Principal’ is denoted in simple interest
calculation? TTEROT <151 &1 TOMT B fifGuer &t & gerfar
STTdT 82

A:'P

B:'I

C:'R

D:'n'

Ans: A

8. What is the formula for the calculation of simple
interest? ATERUT 15T &6 TTUMT 6T JF a1 87

A=
100
B:J =19
Pnr
C:I= Pr
n 100
D:] = Pn
7100
Ans: A
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9. What is the formula for compound interest, if
compounded Annually? TIhqfe ST5T 6T G T &, Al
a1fiies B9 & TAfa foar sirar &2

2n
A: A = P[1+ (00)] andC.I.=A—P
an
B: A = P[1+ (00)] andC.I.=A—P
c:A=P[1+(E)] andC.I.=A—P

Pnr
D:4A=—
100

Ans:C

10. How the years is denoted in simple interest
calculations? TTEMROT &T5T 6t TOMT & a9} & B gufar
STTar 8?2

A:P

B:lI

C:n

D:r

Ans:C

11. How the profit / gain is expressed? TTH/dTH &8 IH
fasar strar 82

201:

A:¥

B:S

C:%

D:*

Ans: C

12. What is the formula to find Loss%? &IfA% Sid &3 BT
A T 8?

loss X100
A:
cp

. cP
* loss x100

. loss+100
SpP

. SP
* loss+100

Ans: A

13. What is the cost price (C.P) formula if there is a
profit? e 81 W ePTd Hed (C.P) g T 8?2

A (s5oioss) * 5P

B: (100+PTOth%) X 5P
C: (100+Proflt%) % CP
(100 loss%) CP

Ans:B

14. What is the formula to find selling price (S.P) if there
is a loss? 11 8 W fdshd {3 (S.P) STTd B3 BT A T 82

)xSP

. ( 100
* \100+Profit %

B:

(100+Proflt %) % CP

C: SP

100—- loss%)

D: X CP

(o
-

100 —loss' A))

Ans:D

15. What is the formula to find Profit%? @M% STid &3

BT Y &7 82
A:—_x100
Profit
B: 2 100
SP
c:2P=CP 100
Profit
D: 2T 100
cP
Ans:D
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16. What is the profit amount, if the i - phone cost price
is Rs.50000/- and selling price is Rs.70000/-? & 1ff &=IT
2, Ifg 31ME-1 &1 @PTd e 50000/- TUA & 3R faiht 7o
70000/- TUA &2

A : Rs. 2000/-

B : Rs.10000/-

C : Rs. 20000/-

D : Rs. 50000/-

Ans: C

17. What is the selling price, if the profit is 5% for a
computer table bought at Rs.1150/- with Rs.50/- as a
transport charge? Ifc URagd ewb & U A 50/- T &
AT 1150/- BUL A WG TS SR eole & et M 5% &,
o qea & 2

A : 1160

B:1620

C:1060

D : 1260

Ans:D

18. What is the cost price if the product is sold at ¥ 572
with a profit of ¥ 72? IS 3c1g BI ¥ 72 & @ & TT T 572
H ST ST 2 A SIPTd Hed T 82

A :¥500

B:¥1000

C:¥644

D:3472

Ans: A

19. What is the profit % if the cost price of 16 bolts is
equal to the selling price of 12 bolts? IfE 16 ST &1 HA
Hed 12 diee & fdhd o &b IR & dl eTH % ol 82

A :13.33

B:23.33

C:3333

D:43.33

Ans: C

20. What is the selling price if the cost price is Rs.7282/-
with a profit of Rs.208? afg 208 TUA & T & TTY APTd
Hed 7282/- B4 &, A feisht qea T 22

A : Rs.7074

B : Rs.7698

C:Rs.7290

D : Rs.7490

Ans:D

21. What is the interest earned, if the principal is
Rs.12000/- becomes to an amount of Rs.15600/-?

31f5Ta <1t o 8, IS Jerer 12000/- 3. 15600/- &Y STdT 82
A : Rs.2600

B : Rs.3600

C :Rs.4600

D : Rs.5600

Ans:B

22. What is the principal amount deposited, if the
maturity proceeds to an amount of Rs.25000/- and
interest earned Rs.6000/-? 3fe uRRuderar fl 5.25000/-
3R =157 31f57d 5.6000/- Bt A deb Tgadt &, oY T 6l 1S
Ho il T 82

A : Rs.31000/-

B : Rs.19000/-

C : Rs.20000/-

D : Rs.25000/-

Ans:B

23. What is the interest earned, if the principal is for
Rs.12500/- maturity becomes to a amount of Rs.17500/-?
IfS el $.12500/- & faE &, dt 31f5a =mst 1 8, 17500/-
&t i 8 51t 22

A : Rs.30000

B : Rs.25000

C :Rs.5000

D : Rs.5500

Ans:C
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24, What is the matured amount for the deposit of
Rs.5000/- and the simple interest earned for Rs.500/-?
BUY 5000/- Ht 5741 AN F feie uRuaa Afr 31k 500/- 39
& o 31f5ia aremoT st o 82

A : Rs.4500

B : Rs.5500

C : Rs.6000

D : Rs.6500

Ans:B

25. What is the simple interest for the principal amount

of Rs.100000 at 10% per annum for 1 year period?

100000 TUA &t H& Af1 R 1 e it 31afeh & e 10% anfia
P G A IRIROT 15 fbar &2

A : Rs.1000/-

B : Rs.5000/-

C : Rs.50000/-

D : Rs.10000/-

Ans:D

26. What is the compounded annual interest, for a loan
amount of Rs.80000/- at 10% per annum for a period of
2 years?

3.80000/- Bt 0T AR & feiw 2 af &t 3rafd & fede 10%
qTfeies &6 & & Tkl aTfvics T3 3T 87

A : Rs.16800/-

B : Rs.92400/-

C : Rs.96800/-

D : Rs.94800/-

Ans: A

27. What is the compounded amount, if the principal of
Rs.30000/- and interest earned at 7% per annum is
Rs.4347?

30000/- B BT HeTeM 3R 7% Ufdad &t a3 @ 1f5a =t
4347 3UA &, A Ashqfe; MY T &2

A : Rs.30347/-

B : Rs.32347/-
C :Rs.33347/-
D : Rs.34347/-
Ans:D

28. What is the difference between the simple and the
compound interest amount at 5% per annum for 2 years

on a principal of Rs.20000/-?

20000/- & HeTed R 2 a9 & feiv 5% fdad Ht v d
ATUROT 3R Thqfe T R0 b i<l T 3R 82
A:Rs5

B:Rs.25

C:Rs.50

D : Rs.55

Ans:C

29. What is the maturity amount if Rs.20000 is deposited

at 5% compound interest per annum for 2 years? afg

20000 9 2 Y & feiC 5% kgl AT W 5THT feba Sirar
2, At uRudaar i o= 82

A : Rs.22000

B : Rs.22050

C : Rs.22500

D : Rs.25000

Ans:B

30. What is the compound interest on a principal of
Rs.25000/- after 3 years at the rate of 12% per annum?
%.25000/- P HeTed R 3 99 d1E 12% Afdas &t & A Ahqfe
151 fdodT 87

A : Rs. 9000

B : Rs.9720

C :Rs.10123.20

D : Rs.10483.20

Ans: C
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